Chapter 6 - Hess’ Law Examples from Zumdahl 9*" Ed

72. Given the following data

2CIF(g) + 0,(g) —> CLO(g) + F,0(g) AH = 1674k
ICIF;(g) + 20,(g) — CLO(g) + 3F,0(g)  AH = 3414KJ
2F,(g) + 0,(g) — 2F,0(g) AH = —434K]

calenlate AH for the reaction

ClIF(g) + Fy(¢) — ClF:(g)



T4. Calculate AH for the reaction

N,H,(I) + 0,(g) — N,(g) + 2H,0())

given the following data:
2NH;(g) + 3N,0(g) —> 4N,(g) + 3H,0())
N;O(g) + 3H;(g) — N,H\()) + H,0()
2NHy(g) + 304(g) —> NoH,(0) + H,0()
H,(g) + 30,(g) — H,0()

AH = —1010. kJ
AH = =317kl
AH = —143 K]
AH = —286 K]



80. Calculate AH for the reaction:
2NH;(g) + ;0x(g) —> NHy(D) + HO()

given the following data:
2NHs(g) + 3N,0(g) — 4Ny(g) + 3H,0()

AH = -1010. kJ
N;O(g) + 3Ha(g) — NHi(D) + HO()

AH = 317kl
NoH4(D) + Ox(g) — Ni(g) + 2H,0()

AH = 623 k]

Hy(g) + 50,(g) — H,0()
AH = -286 k]



